				sun up enterprises inc		WEEKLEY ASPHALT PAVING INC.		Pioneer Construction Management Services	
Item #	Item	Qty	Unit	Price	Total		Total		Total
	1 Remove & Replace Existing Brick Pavers	4000	square foot	\$8.50	\$34,000.00	\$10.06	\$40,240.00	\$8.00	\$32,000.00
	2 Tree Roots 3 Asphalt Removal	35 500	each	\$300.00 \$10.00	\$10,500.00 \$5,000.00	\$750.00 \$9.00	\$26,250.00 \$4,500.00	\$300.00 \$9.00	\$10,500.00 \$4,500.00
	4 Metal Railing Removal	25	square yard linear foot	\$10.00	\$5,000.00	\$9.00	\$4,500.00	\$9.00	\$4,500.00
	5 Metal or Wood Guard Rail Removal	25	linear foot	\$15.00	\$375.00	\$11.00	\$275.00	\$100.00	\$2,500.00
	6 Wood or Chain-Link Fencing	200	linear foot	\$15.00	\$3,000.00	\$4.00	\$800.00	\$50.00	\$10,000.00
	7 Saw Cut Asphalt or Concrete	1500	linear foot	\$2.00	\$3,000.00	\$1.00	\$1,500.00	\$1.00	\$1,500.00
	8 4-inch Thick Concrete Sidewalk Removal	500	square foot	\$2.50	\$1,250.00	\$2.25	\$1,125.00	\$2.00	\$1,000.00
	9 6-inch Thick Concrete Sidewalk Removal	200	square foot	\$2.75	\$550.00	\$2.60	\$520.00	\$2.00	\$400.00
:	10 Storm Drain Basin Removal	10	each	\$750.00	\$7,500.00	\$560.00	\$5,600.00	\$500.00	\$5,000.00
:	11 Storm Drain Storm Pipe Removal	50	linear foot	\$15.00	\$750.00	\$36.00	\$1,800.00	\$50.00	\$2,500.00
:	12 Curb Inlet Top Removal	6	each	\$750.00	\$4,500.00	\$1,060.00	\$6,360.00	\$1,000.00	\$6,000.00
	13 Pavement Marking Removal	1000	linear foot	\$2.00	\$2,000.00	\$3.50	\$3,500.00	\$4.00	\$4,000.00
	14 Directional Arrow Removal	16	each	\$50.00	\$800.00	\$100.00	\$1,600.00	\$60.00	\$960.00
	15 Type "D" Concrete Curb Removal	50	linear foot	\$3.00	\$150.00	\$13.80	\$690.00	\$10.00	\$500.00
	16 Type "F" Concrete Curb Removal	50	linear foot	\$4.00	\$200.00	\$15.35	\$767.50	\$20.00	\$1,000.00
	17 Concrete Curb Removal	50	linear foot	\$5.00	\$250.00	\$15.35	\$767.50	\$20.00	\$1,000.00
	18 Concrete Driveway Removal 19 Limerock Base Removal	500 500	square foot square yard	\$5.00 \$7.00	\$2,500.00 \$3,500.00	\$3.05 \$12.55	\$1,525.00 \$6,275.00	\$2.00 \$13.50	\$1,000.00 \$6,750.00
	20 Paver Blocks Removal	300	square foot	\$3.00	\$900.00	\$5.00	\$1,500.00	\$13.30	\$600.00
	21 Sign & Post Removal	18	each	\$25.00	\$450.00	\$60.00	\$1,080.00	\$50.00	\$900.00
	22 Reinforced Concrete Removal	10	cubic yard	\$100.00	\$1,000.00	\$220.00	\$2,200.00	\$300.00	\$3,000.00
	23 Concrete Sidewalk or Header Curb Grinding/Sawcutting	10	each	\$375.00	\$3,750.00	\$350.00	\$3,500.00	\$150.00	\$1,500.00
	24 Valve Box Adjustment	50	each	\$80.00	\$4,000.00	\$412.00	\$20,600.00	\$100.00	\$5,000.00
:	25 Manhole Adjustment	50	each	\$275.00	\$13,750.00	\$500.00	\$25,000.00	\$500.00	\$25,000.00
	26 1-inch Water Service	10	each	\$2,500.00	\$25,000.00	\$5,862.00	\$58,620.00	\$1,000.00	\$10,000.00
	27 FDOT Bottom Ditch Inlet	5	each	\$7,500.00	\$37,500.00	\$6,910.00	\$34,550.00	\$3,000.00	\$15,000.00
:	28 FDOT Type I Polydrain Trench Drain	100	linear foot	\$180.00	\$18,000.00	\$143.90	\$14,390.00	\$50.00	\$5,000.00
	29 Concrete ADA wheelchair access ramps	8	each	\$1,350.00	\$10,800.00		\$23,200.00	. ,	\$16,000.00
	30 Detectable warning surfaces	4500	square foot	\$32.00	\$144,000.00	\$22.00	\$99,000.00	\$25.00	\$112,500.00
	31 Pave Drain System Blocks	4000	square foot	\$10.00	\$40,000.00	\$16.50	\$66,000.00	\$30.00	\$120,000.00
	32 2-inch Pervious Asphalt Pavement	1000 600	square yard linear foot	\$112.00	\$112,000.00	\$125.60	\$125,600.00	\$180.00	\$180,000.00
	33 9-inchX18-inch Type -inchB-inch curb 34 6-inchX16-inch Type -inchD-inch curb	600	linear foot	\$18.00 \$17.00	\$10,800.00 \$10,200.00	\$33.10 \$30.75	\$19,860.00 \$18,450.00	\$30.00 \$25.00	\$18,000.00 \$15,000.00
	35 Concrete Valley-Gutter	600	linear foot	\$40.00	\$24,000.00	\$38.60	\$23,160.00	\$20.00	\$12,000.00
	36 Type -inchA-inch median curb	300	linear foot	\$35.00	\$10,500.00	\$33.75	\$10,125.00	\$25.00	\$7,500.00
	37 Type -inchRA-inch median curb	300	linear foot	\$35.00	\$10,500.00	\$33.75	\$10,125.00	\$30.00	\$9,000.00
:	38 12-inch X 12-inch Concrete Header Curb	150	linear foot	\$30.00	\$4,500.00	\$39.90	\$5,985.00	\$35.00	\$5,250.00
:	39 4-inch Thick Concrete Apron	10	each	\$450.00	\$4,500.00	\$524.00	\$5,240.00	\$80.00	\$800.00
	40 7 1/2 -inch Concrete Flume	10	each	\$250.00	\$2,500.00	\$990.00	\$9,900.00	\$500.00	\$5,000.00
	41 8-inch Turf Block	300	square foot	\$10.00	\$3,000.00	\$18.00	\$5,400.00	\$30.00	\$9,000.00
	42 6-inch to 12-inch Swale	45	cubic yard	\$15.00	\$675.00	\$155.00	\$6,975.00	\$80.00	\$3,600.00
	43 2 3/8-inch Concrete Pavers	600	square foot	\$8.00	\$4,800.00	\$13.00	\$7,800.00	\$8.00	\$4,800.00
	14 Stamped Asphaltic Concrete	6000	square foot	\$14.50	\$87,000.00	\$10.10	\$60,600.00 \$11,400.00	\$45.00	\$270,000.00
	45 3 1/8-inch Concrete Pavers 46 Pressure Cleaning - Pavers	600 100	square foot square foot	\$8.00 \$3.00	\$4,800.00 \$300.00	\$19.00 \$4.00	\$11,400.00	\$10.00 \$3.00	\$6,000.00 \$300.00
	47 Pressure Cleaning - Pavers Nights and Weekends	100	square foot	\$4.00	\$400.00	\$5.00	\$500.00	\$6.00	\$600.00
	48 Pressure Cleaning - Sidewalks Nights and Weekends	100	square foot	\$4.00	\$400.00	\$5.50	\$550.00	\$8.00	\$800.00
	49 Midblock Pedestrian Signalization	10	location	\$15,000.00	\$150,000.00		\$176,500.00		\$57,000.00
	50 Rounded Speed Hump	18	each	\$1,700.00	\$30,600.00	\$4,000.00	\$72,000.00		\$50,400.00
	51 Flat Top Speed Hump	18	each	\$2,600.00	\$46,800.00	\$4,000.00	\$72,000.00		\$63,000.00
!	52 Speed Cushions	6	each	\$800.00	\$4,800.00	\$4,000.00	\$24,000.00	\$2,500.00	\$15,000.00
!	53 Demolish and Restore Flat Speed Humps	2	each	\$3,250.00	\$6,500.00	\$5,500.00	\$11,000.00	\$6,000.00	\$12,000.00
	54 Removable Locking Bollards	100	each	\$390.00	\$39,000.00	\$806.00	\$80,600.00	\$250.00	\$25,000.00
	55 Milling & Resurface	1000	square yard	\$20.50	\$20,500.00	\$15.00	\$15,000.00	\$72.00	\$72,000.00
	56 4-inch Limerock Base	1200	square yard	\$11.00	\$13,200.00	\$22.30	\$26,760.00	\$16.00	\$19,200.00
	57 6-inch Limerock Base	1200	square yard	\$14.00	\$16,800.00	\$28.42	\$34,104.00	\$20.00	\$24,000.00
	58 8-inch Limerock Base	1200	square yard	\$17.00	\$20,400.00	\$36.60	\$43,920.00	\$24.00	\$28,800.00
	59 12-inch Limerock Base 50 1 1/2-inch Asphaltic Concrete	1200 4500	square yard square yard	\$20.00 \$13.00	\$24,000.00 \$58,500.00	\$49.00 \$11.00	\$58,800.00 \$49,500.00	\$28.00 \$45.00	\$33,600.00 \$202,500.00
	51 Seal Coat	10000	square yard	\$2.00	\$20,000.00	\$1.75	\$17,500.00	\$2.25	\$22,500.00
	52 1-inch Asphaltic Concrete	4500	square yard	\$10.00	\$45,000.00	\$6.85	\$30,825.00	\$40.00	\$180,000.00
	53 2-inch Asphaltic Concrete	4500	square yard	\$15.00	\$67,500.00	\$13.00	\$58,500.00	\$50.00	\$225,000.00
	54 1-inch Asphaltic Friction Course	4500	square yard	\$18.00	\$81,000.00	\$8.75	\$39,375.00	\$54.00	\$243,000.00
	55 6-foot Long Concrete Wheel Stop	50	each	\$50.00	\$2,500.00	\$55.00	\$2,750.00	\$40.00	\$2,000.00
	66 6-foot Long Concrete Wheel Stop	50	each	\$30.00	\$1,500.00	\$43.00	\$2,150.00	\$35.00	\$1,750.00
	57 4-inch concrete sidewalk	5000	square foot	\$6.50	\$32,500.00	\$7.95	\$39,750.00	\$5.00	\$25,000.00
	68 6-inch concrete sidewalk	5000	square foot	\$7.80	\$39,000.00	\$9.50	\$47,500.00	\$6.00	\$30,000.00
(59 6-inch thickened concrete sidewalk	1000	square foot	\$11.00	\$11,000.00	\$9.65	\$9,650.00	\$2.00	\$2,000.00

70 Wire Mesh	500	square foot	\$2.00	\$1,000.00	\$1.25	\$625.00	\$8.00	\$4,000.00
71 4-inch concrete sidewalk	5000	square foot	\$7.00	\$35,000.00	\$9.95	\$49,750.00	\$10.00	\$50,000.00
72 4-inch brick chips/seashells	125	square foot	\$12.00	\$1,500.00	\$19.90	\$2,487.50	\$10.00	\$1,250.00
73 6-inch brief abies (acades)	125	square foot	\$10.00	\$1,250.00	\$19.90	\$2,487.50	\$12.00	\$1,500.00
74 6-inch brick chips/seashells 75 8-inch concrete pavement	125 50	square foot square foot	\$15.00 \$15.00	\$1,875.00 \$750.00	\$100.00 \$24.60	\$12,500.00 \$1,230.00	\$12.00 \$13.00	\$1,500.00 \$650.00
76 Drop Curb	300	linear foot	\$30.00	\$9,000.00	\$33.75	\$1,230.00	\$20.00	\$6,000.00
77 Galvanized Steel Handrail	50	linear foot	\$120.00	\$6,000.00	\$82.50	\$4,125.00	\$50.00	\$2,500.00
78 Galvanized Steel Safeguard	50	linear foot	\$120.00	\$6,000.00	\$96.10	\$4,805.00	\$50.00	\$2,500.00
79 Variable Message Boards	5	location	\$1,500.00	\$7,500.00	\$650.00	\$3,250.00	\$60.00	\$300.00
80 TS 400 Semi-Flush Fixture	5	location	\$21,000.00	\$105,000.00	\$9,668.00	\$48,340.00	\$750.00	\$3,750.00
81 Base Can Controller	5	location	\$2,600.00	\$13,000.00	\$7,990.00	\$39,950.00	\$335.00	\$1,675.00
82 Sensor Motion	2	location	\$1,307.00	\$2,614.00	\$3,045.00	\$6,090.00	\$675.00	\$1,350.00
83 System Controller	1	each	\$3,650.00	\$3,650.00	\$7,940.00	\$7,940.00	\$2,625.00	\$2,625.00
84 Ped-X-Pad	2	each	\$3,620.00	\$7,240.00	\$4,600.00	\$9,200.00	\$2,625.00	\$5,250.00
85 TS1100 Controller	1	each	\$4,375.00	\$4,375.00	\$4,865.00		\$2,800.00	\$2,800.00
86 Solar Panel	1	each	\$1,800.00	\$1,800.00	\$990.00	\$990.00	\$700.00	\$700.00
87 Solar Gel Battery	2	each	\$1,045.00	\$2,090.00	\$600.00	\$1,200.00	\$450.00	\$900.00
88 TS1100 System Controller	2	each	\$5,760.00	\$11,520.00	\$4,900.00		\$2,500.00	\$5,000.00
89 One Sided Configuration Pedestrian Signalization	10	each	\$4,600.00	\$46,000.00	\$4,840.00	\$48,400.00		\$38,000.00
90 Two Sided Configuration Pedestrian Signalization	10	each	\$5,200.00	\$52,000.00	\$6,620.00	\$66,200.00		\$45,000.00
91 Roadway Painting 92 Stencil Template Painting	10000 1000	square foot square foot	\$1.00 \$2.00	\$10,000.00 \$2,000.00	\$0.50 \$5.00	\$5,000.00 \$5,000.00	\$5.00 \$5.00	\$50,000.00 \$5,000.00
93 Directional Bore Less than 6-inch	400	linear foot	\$65.00	\$26,000.00	\$23.60	\$9,440.00	\$34.00	\$13,600.00
94 Conduits Signal	101	linear foot	\$35.00	\$3,535.00	\$23.00	\$2,141.20	\$9.60	\$969.60
95 Cable Signal	2	location	\$8,000.00	\$16,000.00	\$4,750.00		\$6,600.00	\$13,200.00
96 Pull Boxes	10	each	\$1,100.00	\$11,000.00	\$636.00	\$6,360.00	\$870.00	\$8,700.00
97 3-Section Traffic Signal	1	each	\$1,400.00	\$1,400.00	\$1,160.00		\$1,620.00	\$1,620.00
98 Traffic Signal Relocate	3	each	\$900.00	\$2,700.00	\$610.00	\$1,830.00	\$780.00	\$2,340.00
99 Pedestrian Signal 1-way	8	each	\$1,500.00	\$12,000.00	\$1,159.00	\$9,272.00	\$1,200.00	\$9,600.00
100 Pedestrian Signal 2-way	1	each	\$1,869.00	\$1,869.00	\$1,332.00	\$1,332.00	\$1,440.00	\$1,440.00
101 Signal Head Auxiliaries	9	each	\$2,000.00	\$18,000.00	\$1,206.00	\$10,854.00	\$780.00	\$7,020.00
102 Pedestrian Detector	10	each	\$850.00	\$8,500.00	\$355.00	\$3,550.00	\$540.00	\$5,400.00
103 Traffic Controller Assembly Modify	2	each	\$1,800.00	\$3,600.00	\$2,360.00		\$4,800.00	\$9,600.00
104 Remove Traffic Signal	1	each	\$450.00	\$450.00	\$2,180.00	\$2,180.00	\$420.00	\$420.00
105 Sign Panel	10	each	\$1,450.00	\$14,500.00	\$706.00	\$7,060.00	\$720.00	\$7,200.00
106 Hyophoria Vershafeeltii 107 Jatropha Integerrima Standard	42 54	each each	\$350.00 \$282.00	\$14,700.00 \$15,228.00	\$945.00 \$353.00	\$39,690.00 \$19,062.00	\$293.00 \$134.00	\$12,306.00 \$7,236.00
108 Quercus Virginiana � High Rise�	56	each	\$455.00	\$25,480.00	\$1,883.00	\$105,448.00	\$6.50	\$364.00
109 Aechmea Blanchetiana -inchOrange-inch	40	each	\$40.00	\$1,600.00	\$89.00	\$3,560.00	\$18.00	\$720.00
110 Allamanda Schottii	312	each	\$8.65	\$2,698.80	\$18.00	\$5,616.00	\$5.50	\$1,716.00
111 Acalypha Wilkesiana -inchMacafeana-inch	215	each	\$10.90	\$2,343.50	\$24.00	\$5,160.00	\$8.00	\$1,720.00
112 Chrysobalanus Icaco -inchRed Tip-inch	624	each	\$8.25	\$5,148.00	\$18.00	\$11,232.00	\$5.15	\$3,213.60
		each	\$11.25	\$6,615.00	\$24.00	\$14,112.00	40.50	\$4,998.00
113 Cordyline Fruitcosa -inchBlack Magic-inch	588			70,013.00		Ψ± .,±±±.00	\$8.50	
113 Cordyline Fruitcosa -inchBlack Magic-inch 114 Duranta Erecta -inchGold Mound-inch	588 376	each	\$8.50	\$3,196.00	\$18.00	\$6,768.00	\$8.50 \$5.50	\$2,068.00
,		each each			\$18.00 \$7.20			
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch	376 2166 374	each each	\$8.50 \$4.50 \$7.90	\$3,196.00 \$9,747.00 \$2,954.60	\$7.20 \$18.00	\$6,768.00 \$15,595.20 \$6,732.00	\$5.50 \$2.60 \$5.50	\$2,068.00 \$5,631.60 \$2,057.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch	376 2166 374 780	each each each	\$8.50 \$4.50 \$7.90 \$7.90	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00	\$7.20 \$18.00 \$22.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00	\$5.50 \$2.60 \$5.50 \$6.40	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch	376 2166 374 780 992	each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40	\$7.20 \$18.00 \$22.00 \$18.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium	376 2166 374 780 992 1080	each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa	376 2166 374 780 992 1080 599	each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch	376 2166 374 780 992 1080 599 599	each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$5,690.50	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch	376 2166 374 780 992 1080 599 599	each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$5,690.50 \$4,883.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$10,782.00 \$7,401.60	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand	376 2166 374 780 992 1080 599 599 1028 1800	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$5,690.50 \$4,883.00 \$27,000.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80 \$20.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost	376 2166 374 780 992 1080 599 599 1028 1800 300	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$24.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80 \$20.00 \$20.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,2878.40 \$36,000.00 \$6,000.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand	376 2166 374 780 992 1080 599 599 1028 1800 300 300	each each each each each each each cach each cubic yard cubic yard	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$5,690.50 \$4,883.00 \$27,000.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80 \$20.00 \$20.00 \$25.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch	376 2166 374 780 992 1080 599 599 1028 1800 300	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$24.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$10,500.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80 \$20.00 \$20.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades	376 2166 374 780 992 1080 599 599 1028 1800 300 300 1200	each each each each each each each cach each cubic yard cubic yard linear foot	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00 \$3.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$3,600.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$9.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80 \$20.00 \$20.00 \$25.00 \$3.40	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$6,000.00 \$7,500.00 \$4,080.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil	376 2166 374 780 992 1080 599 1028 1800 300 300 1200 1000	each each each each each each each cach each cubic yard cubic yard cubic yard cubic yard	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00 \$3.00 \$16.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$3,600.00 \$16,000.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$9.00 \$30.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$10,800.00 \$30,000.00 \$7,000.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$5.50 \$2.80 \$20.00 \$20.00 \$3.40 \$19.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$6,000.00 \$7,500.00 \$4,080.00 \$19,000.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop	376 2166 374 780 992 1080 599 1028 1800 300 300 1200 1000 1	each each each each each each each cabic yard cubic yard cubic yard cubic yard	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$33.00 \$16.00 \$11,000.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$10,500.00 \$3,600.00 \$11,000.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$10,800.00 \$30,000.00 \$7,000.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3.40 \$19.00 \$3,200.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$19,000.00 \$3,200.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller	376 2166 374 780 992 1080 599 1028 1800 300 1200 1000 1 1 1	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$35.00 \$3.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$10,500.00 \$16,000.00 \$11,000.00 \$11,785.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00 \$4,000.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$10,800.00 \$30,000.00 \$4,000.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3.40 \$19.00 \$3,200.00 \$2,500.00 \$2,500.00 \$400.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$19,000.00 \$3,200.00 \$2,500.00 \$2,500.00 \$400.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker	376 2166 374 780 992 1080 599 1028 1800 300 1200 1000 1 1 1 1	each each each each each each each cubic yard cubic yard cubic yard cubic yard cubic yard each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$3.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$10,500.00 \$16,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$9.00 \$7,000.00 \$4,000.00 \$295.00 \$4,200.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00 \$7,000.00 \$4,000.00 \$990.00 \$4,200.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$3.40 \$19.00 \$3,200.00 \$2,500.00 \$250.00 \$400.00 \$200.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$19,000.00 \$2,500.00 \$22,500.00 \$400.00 \$200.00 \$200.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves	376 2166 374 780 992 1080 599 1028 1800 300 1200 1000 1 1 1 1 1 16	each each each each each each each cubic yard cubic yard cubic yard cubic yard cubic yard each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$36.00 \$11,000.00 \$17,785.00 \$60.00 \$3,400.00 \$905.00 \$288.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$10,500.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$4,608.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$30.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00 \$7,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$3.40 \$19.00 \$3,200.00 \$2,500.00 \$400.00 \$200.00 \$360.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$19,000.00 \$2,500.00 \$250.00 \$400.00 \$250.00 \$250.00 \$5,760.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 16 16	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$11,000.00 \$11,000.00 \$11,785.00 \$60.00 \$3,400.00 \$905.00 \$288.00 \$714.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$10,500.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$3,400.00 \$4,608.00 \$11,424.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$8,480.00 \$8,480.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$25.00 \$3.40 \$19.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,500.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$19,000.00 \$2,500.00 \$250.00 \$200.00 \$200.00 \$121,60.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves	376 2166 374 780 992 1080 599 1028 1800 300 1200 11 1 1 1 16 16	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$90.50 \$288.00 \$714.00 \$346.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$16,000.00 \$11,000.00 \$17,785.00 \$60.00 \$3,400.00 \$3,400.00 \$905.00 \$4,608.00 \$11,424.00 \$692.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00 \$295.00 \$4,200.00 \$530.00 \$530.00 \$355.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$10,800.00 \$30,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$8,480.00 \$8,480.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3,200.00 \$2,500.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$250.00 \$240.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$6,000.00 \$4,080.00 \$2,500.00 \$250.00 \$250.00 \$200.00 \$5,760.00 \$11,160.00 \$480.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 16 16 2 16	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$288.00 \$714.00 \$346.00 \$462.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$16,000.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$4,608.00 \$11,424.00 \$692.00 \$7,392.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$30.00 \$7,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$530.00 \$530.00 \$530.00 \$530.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$10,800.00 \$30,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00 \$8,480.00 \$7,10.00 \$8,480.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3,200.00 \$2,500.00 \$2,500.00 \$400.00 \$360.00 \$360.00 \$760.00 \$180.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$6,000.00 \$7,500.00 \$4,080.00 \$2,500.00 \$250.00 \$400.00 \$250.00 \$400.00 \$200.00 \$5,760.00 \$11,160.00 \$480.00 \$480.00 \$480.00 \$480.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 6 16 2 16 25	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$288.00 \$714.00 \$346.00 \$462.00 \$86.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$16,000.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$4,608.00 \$11,424.00 \$692.00 \$7,392.00 \$7,392.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$350.00 \$350.00 \$950.00 \$950.00 \$950.00 \$950.00 \$950.00 \$950.00 \$950.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00 \$8,480.00 \$710.00 \$6,800.00 \$2,250.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$3.40 \$3,200.00 \$2,500.00 \$250.00 \$400.00 \$360.00 \$360.00 \$760.00 \$240.00 \$180.00 \$300.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$4,080.00 \$19,000.00 \$2,500.00 \$250.00 \$400.00 \$200.00 \$250.00 \$12,160.00 \$480.00 \$12,160.00 \$480.00 \$7,500.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 6 16 2 16 25 2400	each each each each each each each cubic yard cubic yard cubic yard linear foot cubic yard each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$35.00 \$3.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$3400.00 \$14,000.00 \$1,785.00 \$60.00 \$3,400.00 \$1,785.00 \$60.00 \$3,400.00 \$1,785.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$1,700.00 \$1,785.00 \$60.00 \$3,400.00 \$1,785.00 \$905.00 \$1,424.00 \$692.00 \$7,392.00 \$2,150.00 \$12,000.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00 \$350.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00 \$7,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00 \$8,480.00 \$710.00 \$6,800.00 \$2,250.00 \$7,200.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$25.00 \$3.40 \$19.00 \$3,200.00 \$250.00 \$400.00 \$250.00 \$400.00 \$180.00 \$760.00 \$180.00 \$300.00 \$250.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$19,000.00 \$2,500.00 \$250.00 \$400.00 \$200.00 \$12,160.00 \$480.00 \$2,880.00 \$2,880.00 \$2,880.00 \$15,600.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline 139 Mainline Fittings	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 6 16 2 16 25 2400 2	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$4.75 \$15.00 \$3.00 \$1.600 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$288.00 \$346.00 \$462.00 \$462.00 \$55.00 \$150.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$16,000.00 \$1,785.00 \$60.00 \$3,400.00 \$4,608.00 \$11,424.00 \$692.00 \$7,392.00 \$2,150.00 \$12,000.00 \$3,300.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$9.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$33.00 \$355.00 \$425.00 \$90.00 \$355.00 \$355.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$10,800.00 \$7,000.00 \$4,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00 \$710.00 \$6,800.00 \$2,250.00 \$7,200.00 \$7,200.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3.40 \$19.00 \$2,500.00 \$250.00 \$400.00 \$260.00 \$260.00 \$360.00 \$760.00 \$240.00 \$360.00 \$250.00 \$250.00 \$250.00 \$250.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$19,000.00 \$2,500.00 \$2,500.00 \$20.00 \$20.00 \$21,160.00 \$480.00 \$2,880.00 \$7,500.00 \$480.00 \$2,880.00 \$15,600.00 \$400.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline 139 Mainline Fittings 140 Mainline Marking Tape	376 2166 374 780 992 1080 599 1028 1800 300 1200 1000 1 1 1 1 16 16 2 16 25 2400 2	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$288.00 \$714.00 \$346.00 \$462.00 \$86.00 \$5.00 \$150.00 \$150.00 \$150.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$1,000.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$4,608.00 \$11,424.00 \$692.00 \$7,392.00 \$2,150.00 \$300.00 \$300.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$9.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$355.00 \$355.00 \$355.00 \$355.00 \$355.00 \$125.00 \$355.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$17,700.00 \$30,000.00 \$7,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00 \$710.00 \$6,800.00 \$2,250.00 \$7,200.00 \$7,200.00 \$7,200.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3.40 \$19.00 \$2,500.00 \$250.00 \$400.00 \$260.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00 \$180.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$2,500.00 \$2,500.00 \$250.00 \$400.00 \$250.00 \$250.00 \$400.00 \$5,760.00 \$12,160.00 \$480.00 \$2,880.00 \$7,500.00 \$15,600.00 \$400.00 \$2,880.00 \$7,500.00 \$15,600.00 \$400.00 \$2,400.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline 139 Mainline Fittings 140 Mainline Marking Tape 141 Irrigation Lateral Line	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 6 16 2 16 25 2400 13000	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$346.00 \$462.00 \$462.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$1,500.00 \$1,785.00 \$60.00 \$3,400.00 \$3,400.00 \$1,424.00 \$692.00 \$7,392.00 \$12,000.00 \$300.00 \$12,000.00 \$13,400.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$355.00 \$425.00 \$90.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,165.00 \$17,856.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$11,700.00 \$10,800.00 \$30,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$8,480.00 \$710.00 \$6,800.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$1,880.00 \$2,250.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$3.40 \$19.00 \$3,200.00 \$250.00 \$400.00 \$250.00 \$400.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$240.00 \$	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$2,500.00 \$250.00 \$250.00 \$400.00 \$2,880.00 \$12,160.00 \$4,880.00 \$12,160.00 \$4,880.00 \$2,880.00 \$2,880.00 \$1,5600.00 \$4,000 \$2,880.00 \$1,5600.00 \$1,5600.00 \$4,000 \$2,400.00 \$2,400.00 \$2,400.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline 139 Mainline Fittings 140 Mainline Marking Tape 141 Irrigation Lateral Line 142 Irrigation Sleeving	376 2166 374 780 992 1080 599 1028 1800 300 1200 1000 1 1 1 1 1 6 2 16 25 2400 13000 1100	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$33.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$3,400.00 \$346.00 \$462.00 \$36.00 \$150.00 \$150.00 \$37.75	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$7,200.00 \$16,000.00 \$16,000.00 \$11,000.00 \$1,785.00 \$60.00 \$905.00 \$4,608.00 \$11,424.00 \$692.00 \$7,392.00 \$2,150.00 \$300.00 \$720.00 \$19,500.00 \$300.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$30.00 \$7,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$530.00 \$355.00 \$425.00 \$90.00 \$355.00 \$425.00 \$90.00 \$355.00 \$425.00 \$90.00 \$355.00 \$425.00 \$90.00 \$355.00 \$355.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$10,800.00 \$30,000.00 \$4,000.00 \$295.00 \$4,200.00 \$4,200.00 \$8,480.00 \$7,10.00 \$6,800.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$1,200.00 \$2,250.00 \$7,200.00 \$1,200.00 \$2,250.00 \$1,200.00 \$2,250.00 \$1,200.00 \$2,250.00 \$1,200.00 \$2,280.00 \$2,880.00 \$10,450.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$3.40 \$19.00 \$250.00 \$250.00 \$250.00 \$250.00 \$400.00 \$360.00 \$180.00 \$180.00 \$300.00 \$18	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$6,000.00 \$4,080.00 \$2,500.00 \$250.00 \$250.00 \$200.00 \$5,760.00 \$11,160.00 \$480.00 \$12,160.00 \$480.00 \$2,880.00 \$15,600.00 \$400.00 \$2,880.00 \$15,600.00 \$400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline 139 Mainline Fittings 140 Mainline Marking Tape 141 Irrigation Lateral Line	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 6 16 2 16 25 2400 13000	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$35.00 \$16.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$905.00 \$346.00 \$462.00 \$462.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00 \$150.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$10,500.00 \$1,500.00 \$1,785.00 \$60.00 \$3,400.00 \$3,400.00 \$1,424.00 \$692.00 \$7,392.00 \$12,000.00 \$300.00 \$12,000.00 \$13,400.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$18.00 \$7.20 \$40.00 \$47.00 \$9.00 \$7,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$355.00 \$425.00 \$90.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00 \$425.00	\$6,768.00 \$15,595.20 \$6,732.00 \$17,165.00 \$17,856.00 \$10,782.00 \$10,782.00 \$7,401.60 \$72,000.00 \$11,700.00 \$10,800.00 \$30,000.00 \$4,000.00 \$295.00 \$990.00 \$4,200.00 \$8,480.00 \$710.00 \$6,800.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$1,880.00 \$2,250.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$3.40 \$19.00 \$3,200.00 \$250.00 \$400.00 \$250.00 \$400.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$240.00 \$	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$5,704.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$7,500.00 \$4,080.00 \$2,500.00 \$250.00 \$250.00 \$400.00 \$2,500.00 \$12,160.00 \$4,880.00 \$12,160.00 \$4,880.00 \$2,880.00 \$1,5600.00 \$4,000 \$2,880.00 \$2,880.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00
114 Duranta Erecta -inchGold Mound-inch 115 Dianella Tasmanica -inchVariegata-inch 116 Ficus Microcarpa -inchGreen Island-inch 117 Ilex Vomitora -inchStokes Dwarf-inch 118 Juniperus Conferta -inchCompacta-inch 119 Microsorum Scolopendrium 120 Psychotria Nervosa 121 Rhaphiolepis Indica -inchAlba-inch 122 Tracelospermum Asiaticum -inchTricolor-inch 123 Clear Sand 124 Decomposed Compost 125 Mulch 126 Tree Barricades 127 Planting Soil 128 Power Drop 129 Controller 130 Railsensor 131 Water Meter 132 Pressure Vacuum Breaker 133 Electric Valves 134 Zone Gate Valves 135 Air/Vac Release Valves 136 Valve Box 137 Valve Box Identification 138 Mainline 139 Mainline Fittings 140 Control Wire	376 2166 374 780 992 1080 599 1028 1800 300 1200 1 1 1 1 1 6 16 2 16 25 2400 2 2400 13000 14000	each each each each each each each each	\$8.50 \$4.50 \$7.90 \$9.45 \$10.40 \$9.50 \$9.50 \$4.75 \$15.00 \$24.00 \$35.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$288.00 \$714.00 \$346.00 \$462.00 \$86.00 \$5.00 \$150.00 \$150.00 \$150.00	\$3,196.00 \$9,747.00 \$2,954.60 \$6,162.00 \$9,374.40 \$11,232.00 \$5,690.50 \$4,883.00 \$27,000.00 \$1,500.00 \$1,600.00 \$11,000.00 \$1,785.00 \$60.00 \$3,400.00 \$3,400.00 \$11,424.00 \$905.00 \$4,608.00 \$11,424.00 \$692.00 \$7,392.00 \$2,150.00 \$3,000.00 \$7,392.00 \$2,150.00 \$3,000.00 \$3,000.00 \$1,785.00 \$692.00 \$7,392.00 \$2,150.00 \$3,000.00 \$700.00 \$19,500.00 \$5,600.00	\$7.20 \$18.00 \$22.00 \$18.00 \$21.50 \$18.00 \$7.20 \$40.00 \$47.00 \$59.00 \$30.00 \$7,000.00 \$295.00 \$990.00 \$4,200.00 \$530.00 \$425.00 \$90.00 \$355.00 \$425.00 \$90.00 \$355.00 \$425.00 \$90.00 \$30.00 \$425.00 \$90.00 \$30.00 \$425.00 \$90.00 \$30.00 \$425.00 \$90.00 \$425.00 \$	\$6,768.00 \$15,595.20 \$6,732.00 \$17,160.00 \$17,856.00 \$23,220.00 \$10,782.00 \$7,401.60 \$72,000.00 \$14,100.00 \$10,800.00 \$30,000.00 \$4,000.00 \$990.00 \$4,200.00 \$8,480.00 \$8,480.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$7,200.00 \$2,880.00 \$31,850.00 \$10,450.00 \$6,720.00	\$5.50 \$2.60 \$5.50 \$6.40 \$5.75 \$7.00 \$5.80 \$2.80 \$20.00 \$20.00 \$25.00 \$3,200.00 \$250.00 \$400.00 \$250.00 \$400.00 \$360.00 \$760.00 \$180.00 \$180.00 \$180.00 \$180.00 \$300.00 \$180.00 \$300.00	\$2,068.00 \$5,631.60 \$2,057.00 \$4,992.00 \$7,560.00 \$3,474.20 \$3,294.50 \$2,878.40 \$36,000.00 \$6,000.00 \$4,080.00 \$19,000.00 \$250.00 \$250.00 \$400.00 \$250.00 \$12,160.00 \$12,160.00 \$12,880.00 \$15,760.00 \$15,760.00 \$15,760.00 \$15,760.00 \$12,160.00 \$2,880.00 \$2,880.00 \$15,760.00 \$12,160.00 \$40.00

146 Rainbird Bubblers	198	each	\$7.00	\$1,386.00	\$69.00	\$13,662.00	\$14.00	\$2,772.00
147 Flow Control	1600	each	\$6.00	\$9,600.00	\$6.20	\$9,920.00	\$22.00	\$35,200.00
148 2-inch Gravel	56	cubic foot	\$25.00	\$1,400.00	\$19.00	\$1,064.00	\$35.00	\$1,960.00
149 Filter Fabric	128	square foot	\$3.50	\$448.00	\$9.90	\$1,267.20	\$17.00	\$2,176.00
150 Bahia Sod	800	square yard	\$4.00	\$3,200.00	\$6.00	\$4,800.00	\$6.00	\$4,800.00
151 St. Augustine Sod	800	square yard	\$5.00	\$4,000.00	\$8.00	\$6,400.00	\$6.00	\$4,800.00
152 Tree Grate Restore/Rework	6	each	\$300.00	\$1,800.00	\$990.00	\$5,940.00	\$800.00	\$4,800.00
153 Yellow-Yellow RPM	14	each	\$10.00	\$140.00	\$11.00	\$154.00	\$5.00	\$70.00
154 Red-Clear RPM	14	each	\$10.00	\$140.00	\$11.00	\$154.00	\$4.00	\$56.00
155 6-inch Double Yellow Thermoplastic Pavement Markings	6000	linear foot	\$2.00	\$12,000.00	\$2.70	\$16,200.00	\$1.60	\$9,600.00
156 6-inch Double Yellow Paint Pavement Markings	6000	linear foot	\$1.30	\$7,800.00	\$1.00	\$6,000.00	\$0.60	\$3,600.00
157 4-inch White Thermoplastic Pavement Markings	11000	linear foot	\$1.00	\$11,000.00	\$1.00	\$11,000.00	\$0.50	\$5,500.00
158 6-inch White Thermoplastic Pavement Markings	3000	linear foot	\$1.50	\$4,500.00	\$1.25	\$3,750.00	\$0.80	\$2,400.00
159 8-inch White Thermoplastic Pavement Markings	3000	linear foot	\$1.75	\$5,250.00	\$2.00	\$6,000.00	\$1.00	\$3,000.00
160 12-inch White Thermoplastic Pavement Markings	3000	linear foot	\$3.25	\$9,750.00	\$3.20	\$9,600.00	\$1.60	\$4,800.00
161 18-inch White Thermoplastic Pavement Markings	500	linear foot	\$4.85	\$2,425.00	\$5.00	\$2,500.00	\$2.40	\$1,200.00
,			-					
162 24-inch White Thermoplastic Pavement Markings	500	linear foot	\$6.50	\$3,250.00	\$6.00	\$3,000.00	\$3.20	\$1,600.00
163 4-inch White Paint Pavement Markings	11000	linear foot	\$0.75	\$8,250.00	\$0.38	\$4,180.00	\$0.25	\$2,750.00
164 6-inch White Paint Pavement Markings	3000	linear foot	\$0.80	\$2,400.00	\$0.55	\$1,650.00	\$0.30	\$900.00
165 8-inch White Paint Pavement Markings	3000	linear foot	\$0.90	\$2,700.00	\$0.75	\$2,250.00	\$0.40	\$1,200.00
166 12-inch White Paint Pavement Markings	3000	linear foot	\$1.50	\$4,500.00	\$1.30	\$3,900.00	\$0.60	\$1,800.00
167 18-inch White Paint Pavement Markings	500	linear foot	\$2.50	\$1,250.00	\$2.10	\$1,050.00	\$0.90	\$450.00
168 24-inch White Paint Pavement Markings	500	linear foot	\$3.00	\$1,500.00	\$2.75	\$1,375.00	\$1.20	\$600.00
169 4-inch Yellow Thermoplastic Pavement Markings	11000	linear foot	\$1.00	\$11,000.00	\$1.05	\$11,550.00	\$0.50	\$5,500.00
170 6-inch Yellow Thermoplastic Pavement Markings	3000	linear foot	\$1.50	\$4,500.00	\$1.50	\$4,500.00	\$0.80	\$2,400.00
171 8-inch Yellow Thermoplastic Pavement Markings	3000	linear foot	\$1.75	\$5,250.00	\$1.90	\$5,700.00	\$1.00	\$3,000.00
172 12-inch Yellow Thermoplastic Pavement Markings	3000	linear foot	\$3.25	\$9,750.00	\$3.20	\$9,600.00	\$1.60	\$4,800.00
173 18-inch Yellow Thermoplastic Pavement Markings	500	linear foot	\$4.85	\$2,425.00	\$4.90	\$2,450.00	\$2.40	\$1,200.00
174 24-inch Yellow Thermoplastic Pavement Markings	500	linear foot	\$6.50	\$3,250.00	\$5.00	\$2,500.00	\$3.20	\$1,600.00
175 4-inch Yellow Paint Pavement Markings	11000	linear foot	\$0.75	\$8,250.00	\$0.40	\$4,400.00	\$0.25	\$2,750.00
176 6-inch Yellow Paint Pavement Markings	3000	linear foot	\$0.80	\$2,400.00	\$0.45	\$1,350.00	\$0.30	\$900.00
177 8-inch Yellow Paint Pavement Markings	3000	linear foot	\$0.90	\$2,700.00	\$0.75	\$2,250.00	\$0.40	\$1,200.00
178 12-inch Yellow Paint Pavement Markings	3000	linear foot	\$1.50	\$4,500.00	\$1.30	\$3,900.00	\$0.60	\$1,800.00
179 18-inch Yellow Paint Pavement Markings	500	linear foot	\$2.50	\$1,250.00	\$2.00	\$1,000.00	\$0.90	\$450.00
180 24-inch Yellow Paint Pavement Markings	500	linear foot	\$3.00	\$1,500.00	\$2.60	\$1,300.00	\$1.20	\$600.00
181 18-inch Chevron Thermoplastic Pavement Markings	500	linear foot	\$5.00	\$2,500.00	\$4.75	\$2,375.00	\$2.40	\$1,200.00
182 18-inch Chevron Painted Pavement Markings	200	linear foot	\$2.50	\$500.00	\$2.90	\$580.00	\$0.90	\$1,200.00
~	45	each	\$75.00	\$3,375.00	\$50.00		\$60.00	\$2,700.00
183 White on Blue Handicap Pavement Marking (2 coat)						\$2,250.00		
184 White on Blue Handicap Pavement Marking	20	each	\$50.00	\$1,000.00	\$250.00	\$5,000.00	\$150.00	\$3,000.00
185 ONLY Pavement Marking (2 coat)	10	each	\$75.00	\$750.00	\$90.00	\$900.00	\$100.00	\$1,000.00
186 AHEAD Pavement Marking (2 coat)	10	each	\$100.00	\$1,000.00	\$90.00	\$900.00	\$100.00	\$1,000.00
187 YIELD Pavement Marking (2 coat)	10	each	\$100.00	\$1,000.00	\$90.00	\$900.00	\$100.00	\$1,000.00
188 PED Pavement Marking (2 coat)	10	each	\$60.00	\$600.00	\$90.00	\$900.00	\$100.00	\$1,000.00
189 XING Pavement Marking (2 coat)	10	each	\$75.00	\$750.00	\$90.00	\$900.00	\$100.00	\$1,000.00
190 MPH Pavement Marking (2 coat)	10	each	\$55.00	\$550.00	\$90.00	\$900.00	\$100.00	\$1,000.00
191 ONLY Pavement Marking	10	each	\$130.00	\$1,300.00	\$370.00	\$3,700.00	\$150.00	\$1,500.00
192 AHEAD Pavement Marking	10	each	\$150.00	\$1,500.00	\$450.00	\$4,500.00	\$150.00	\$1,500.00
193 YIELD Pavement Marking	10	each	\$130.00	\$1,300.00	\$450.00	\$4,500.00	\$150.00	\$1,500.00
194 PED Pavement Marking	10	each	\$100.00	\$1,000.00	\$380.00	\$3,800.00	\$150.00	\$1,500.00
195 XING Pavement Marking	10	each	\$130.00	\$1,300.00	\$400.00	\$4,000.00	\$150.00	\$1,500.00
196 MPH Pavement Marking	10	each	\$100.00	\$1,000.00	\$380.00	\$3,800.00	\$150.00	\$1,500.00
197 24-inch X 72-inch Bicycle Arrow Pavement Marking	10	each	\$40.00	\$400.00	\$30.00	\$300.00	\$40.00	\$400.00
198 24-inch X 72-inch Bicycle Arrow Pavement Marking (Thermo	30	each	\$170.00	\$5,100.00	\$150.00	\$4,500.00	\$60.00	\$1,800.00
199 40-inch X 72-inch Bicycle Arrow Pavement Marking	30	each	\$55.00	\$1,650.00	\$140.00	\$4,200.00	\$75.00	\$2,250.00
200 40-inch X 72-inch Bicycle Arrow Pavement Marking	30	each	\$200.00	\$6,000.00	\$65.00	\$1,950.00	\$75.00	\$2,250.00
201 48-inch X 240-inch Green Bicycle and Arrow Combo Paveme	30	each	\$100.00	\$3,000.00	\$1,300.00	\$39,000.00		\$36,900.00
202 40-inch X 112-inch Bike Lane Sharrow	30	each	\$70.00	\$2,100.00	\$130.00	\$3,900.00	\$130.00	\$3,900.00
203 40-inch X 112-inch Bike Lane Sharrow (performed thermopl	30	each	\$320.00	\$9,600.00	\$420.00	\$12,600.00	\$660.00	\$19,800.00
204 40-inch X 112-inch Bike Lane Sharrow (performed thermop	30	each	\$340.00	\$10,200.00	\$455.00	\$13,650.00	\$615.00	\$18,450.00
205 Tubular Markers	100	each	\$1.50	\$150.00	\$110.00	\$11,000.00	\$75.00	\$7,500.00
206 6-inch White (2-ft X 4-ft) Thermoplastic Pavement Markings	1000	linear foot	\$1.50	\$1,500.00	\$2.60	\$2,600.00	\$0.90	\$900.00
207 6-inch White (10-ft X 30-ft) Thermoplastic Pavement Markir	1000	linear foot	\$1.50	\$1,500.00	\$1.90	\$1,900.00	\$0.90	\$900.00
208 6-inch White (6-ft X 10-ft) Thermoplastic Pavement Marking		linear foot		\$1,500.00				\$900.00
209 6-inch Yellow (10-ft X 30-ft) Thermoplastic Pavement Markii	1000		\$1.50		\$2.25	\$2,250.00	\$0.90	
, ,	1000	linear foot	\$1.50	\$1,500.00	\$2.25	\$2,250.00	\$0.90	\$900.00
210 Speed Hump Arrow Pavement Markings	40	each	\$75.00	\$3,000.00	\$110.00	\$4,400.00	\$800.00	\$32,000.00
211 New Sign Assembly	10	each	\$400.00	\$4,000.00	\$450.00	\$4,500.00	\$260.00	\$2,600.00
212 Existing Sign Remove and Relocate	10	each	\$75.00	\$750.00	\$600.00	\$6,000.00	\$100.00	\$1,000.00
213 Custom Sign Assembly (Item removed per Addendum3)	10	each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
214 Existing Custom Sign Remove and Relocate	10	each	\$75.00	\$750.00	\$900.00	\$9,000.00	\$250.00	\$2,500.00
215 Railroad Pavement Marking	5	each	\$200.00	\$1,000.00	\$650.00	\$3,250.00	\$250.00	\$1,250.00
216 Wrong Way Arrow Pavement Marking	5	each	\$115.00	\$575.00	\$400.00	\$2,000.00	\$250.00	\$1,250.00
217 Turn Lane-Use Arrow Pavement Marking	5	each	\$115.00	\$575.00	\$160.00	\$800.00	\$300.00	\$1,500.00
218 Turn Lane-Use Arrow Pavement Marking	5	each	\$55.00	\$275.00	\$69.00	\$345.00	\$200.00	\$1,000.00
219 Thermoplastic Pavement Marking Removal	1200	linear foot	\$1.75	\$2,100.00	\$1.60	\$1,920.00	\$3.00	\$3,600.00
220 Painted Pavement Marking Removal	1200	linear foot	\$1.75	\$2,100.00	\$1.35	\$1,620.00	\$1.00	\$1,200.00
221 6-inch Blue Painted Pavement Markings (2 coat)	3000	linear foot	\$0.80	\$2,400.00	\$1.35	\$4,050.00	\$1.20	\$3,600.00

222 6-inch Blue Thermoplastic Pavement Markings	3000	linear foot	\$1.50	\$4,500.00	\$3.80	\$11,400.00	\$2.00	\$6,000.00
223 Intersection Traffic Coating	6000	square foot	\$12.00	\$72,000.00	\$9.00	\$54,000.00	\$3.00	\$18,000.00
224 6 Foot Steel Bench	10	each	\$3,000.00	\$30,000.00	\$3,490.00	\$34,900.00	\$2,900.00	\$29,000.00
225 36 Gallon Litter Receptable	10	each	\$2,400.00	\$24,000.00	\$2,900.00	\$29,000.00	\$2,200.00	\$22,000.00
226 36 Gallon Receptable Liner	10	each	\$100.00	\$1,000.00	\$240.00	\$2,400.00	\$100.00	\$1,000.00
227 Bike Rack	5	each	\$2,200.00	\$11,000.00	\$2,900.00	\$14,500.00	\$1,550.00	\$7,750.00
ALLOWANCE				\$180,000.00		\$180,000.00		\$180,000.00
TOTAL				\$2,733,061.30		\$3,459,926.20		\$3,513,826.90